Brno — Czech Republic




Production
number

Date of prod.

Manufacturer




Pos. ltem name Part no. Pos. Item name Part no.

1 Magazine 5 1207.0001 47 Tripping lever 1207.0140
2 Rod 1207.0002 48 Seat - assembly 1207.0150
3 Balancing weight 1207.0003 49 Trigger housing 1207.0201 INDEX
4 Screw M5x8 1207.0005 50 Trigger finger piece 1207.0202
5 Front sight 3,7mm 1207.4006 51 Trigger 1207.0203
6 Screw M5x6 (2x) 1207.0128 52 Trigger lever 1207.0204
7 Screw M4x25 1207.0008 53 Trigger lever spring 1207.0205
8 Trigger guard 1207.0009 54 Catch spring 1207.0206 INDEX 3
9 Magazine 1 1207.0011 55 Screw spring (2x) 1207.0207  INDEA s s s s s s
10 Screw M5x6 (3x) 1207.0012 56 Screw M3x6 (2x) 1207.0208
11 Oring 95 (3x) 1207.0013 57 Needle 3x17.8 (5) 1207.0209 INTRODUCTION .....coreereuseenressessesssessesssssessessssssessessssssessessesssessessesanes 4
12 Grip nut 1207.0014 58 Screw M3x8 (2x) 1207.0211
13 Front sight spring 1207.0015 59 Trigger screw 1207.0212
14 Container 1207.0016 60 Trigger spring 1207.0213 BASIC SAFETY ....ooeeeeeeeeeeeeeeeeeeeeeeeeeseeessesssssssssssssnsesssssssssssnsssnsnnnnnnns D
15 Screw M5x8 1207.0017 61 Catch 1207.0214
16 Screw M5x8 1207.0018 62 Reduction 1207.0215
17 Compensator 1507 0020 63 Reduction lever spring 1507 0216 PUTTING THE GUN INTO OPERATION, DRY FIRING.................... 5
18 Body 1207.0101 64 Screw M3x6 1207.0217
19 Barrel 4,5 12070102 65 Complete grip 1207.0300 FILLING THE GUN WITH CO2...eureeueenerssesssesssessssssssssssssssssssscsanees 6
20 O-ring 8x4 1207.0103 66 Palm rest nut (2x) 1207.0313
2; guide - 128;818; Z; 5\/0"3: M:X(ZO)@X) 128;821; USING THE 12G CO2 CARTRIDGE (FIG.1)
ear sight carrier . asher X .
23 Screw M4x8 (2x) 1207.0106 69 Complete rear sight 1207.4400 USING THE FILLING VALVE (FIG'2)
24 Chamber 1207.0107 70 Rear sight leaf 1207.4401
onario i Loes s i o LOADING THE GUN, SHOOTING (FIG.3,4) .....ccouuuummnenssssssnssessssssens 7
26 Crossbar 1207.0109 73 Rear sight shim 1207.4404
27 Adjusting screw 1207.0111 74 Sorow M2.55 (21 1207.4405 ADJUSTMENTS.....oooereersuassessesssssseessssssssssssssssssssssssssssssssssssssassssesees 8
28 Main spring 1207.0112 75 Elevation adjustment nut 1207.4406
29 O-ring 4x1,5 1207.0113 76 Adjustment screw (2x) 1207.4407 GRIP ADJUSTMENTS ...iiiiieieeeeeeeeeeeeeeeee et e e e e e e e e e e e e e e e e e e e e aeee s
30 Valve 1207.0114 77 Rear sight knob (2x) 1207.4408
3T Vahe soG 1207 0715 78 Retaining ring 266 (& 1507 4405 SIGHT ADJUSTMENTS 1.vveieeiceveeeeeetveeeesesreeeeesseeeessssseessssseeessssssesssssssnes
32 Plug 1207.0116 79 Retaining ring 2 1207.4411 TRIGGER ADJUSTMENTS
33 O-ring 12x8 1207.0117 80 Bolt 1207.4416
34 Safety 1207.0118 81 Piercer 1207.0500 CLEANING OF THE GUN ................................................................ 10
35 Needle 2x7,8 (6x) 1207.0119 82 Piercer nut 1207.0501
36 Safety spring 1207.0121 83 Retaining ring 4 1207.0502
37 Foodor 1207 0123 84 Plorcer washer 1207 0503 TECHNICAL SPECIFICATIONS........oirecerrerecerresce s s ssce e e 11
38 Drawbar 1207.0123 85 O-ring 19x15 1207.0504
39 Drawbar spring 1207.0124 86 Piercer body 1207.0511 TECHNICAL SPECIFICATIONS........cceeeeeeereeeeessseessssssesssssssssssssnes 11
40 Drawbar pivot 1207.0125 87 Piercer key 1207.0904
41 Link 1207.0126 95 Left blade 1207.4414 STANDARD ACCESSORIES
42 Tripping lever spring 1207.0127 96 Right blade 1207.4415
44 Feeder spring (3x) 1207.0129 97 Tripping lever guard 1207.0160 OPTIONAL ACCESSORIES
45 Thrust ring 1207.0131 98 Guard screw 1207.0166 N
46 Sorow M2.5x 2070132 APPENDIX A - AERON B96 ASSEMBLY...........ccceecmrrnivmnrinisnnnnnne. 12
201 Complete left grip (L) 1207.0310 205 Front sight 4,5 mm 1207.0406 D
202 Filing valve 1507 0930 206 Front sight 5 mm 1507 0406 E APPENDIX B - AERON B96 PART LIST ......ccccivvrmrrniicnrinsseennnnnn. 13
203 Front sight 3,4 mm 1207.0406 B 207 Pressure cartridge 150g CO, 1207.0920
204 Front sight 4 mm 1207.0406 C

14



Instructions for using, maintenance and

handling of the self-loading pistol AERON B96

INTRODUCTION

APPENDIX B - AERON B96 PART LIST

The match self-loading five-shot CO2 pistol model AERON B96 is intended both for
sports shooting and for competition shooting complying with ISSF regulations for “Air
Pistol event” and “Air Pistol Rapid Event”. It can be used either as a single shot or five
shot rapid-fire weapon.

The high technical standard with the precision LOTHAR WALTHER company barrel
coupled with new compensator design and a lot of variable elements make it possible
to meet all individual requirements of the shooter.

The most important characteristics of this up-to-date weapon is the variable tilt of the
anatomical walnut grips ranging from 110 to 125, even when the pistol is under
pressure. This ensures together with the additional weight optimum hold and
excellent stability when shooting.

Unique 5 shot cartridge shifting mechanism design allows extremely short rapid-fire
times while keeping well designed shooting precision at the same time. All five pellets
can be fired in less than 3 seconds.

13



APPENDIX A - AERON B96 ASSEMBLY

BASIC SAFETY

e Do not use the pistol until you have completely read this manual.

e Aloaded firearm has the potential to cause injury. Intelligently handled it is
safe.

e An accident is always the result of basic safety rules neglect.
e Accident prevention is user responsibility

e Always treat firearm as if it were loaded.

e Never point a firearm at anything you don’t want to shoot.

e Never shoot at a flat surface.

e Before loading a firearm, be sure you know how it functions.

e Always use only quality pellets intended for gas guns, taken out from original
packing and immediately loaded into the magazine.

e Do not use deformed or corroded pellets.

e Keep clean both the pistol and magazines.

e The gun is designed exclusively for using COx.

e Never use excessive force when disassembling or assembling the gun.

e Before each filling of the gun with gas cock the striking mechanism and put the
safety on.

e Use the safety after shooting or before each manipulation with the gun.

e  Keep the gas cartridge container located in the grip slightly preserved by
appropriate lubricant.

e Do not transport the pressurized gun.
e Do not expose gas charged gun to temperatures above 40 °C (104 °F).
¢ Do not expose gas charged gun to direct sunlight.

PUTTING THE GUN INTO OPERATION, DRY FIRING

12

Before using clean dry both the gun surface and barrel bore. Cock the pistol striking
mechanism by the crossbar (26) in the direction to the barrel muzzle and put on the
safety (34) on the right side of the gun.

The safety limits the movement of the crossbar in both directions. It enables free let-
off without releasing the propelling gas — dry training. After each trigger squeeze you
have to cock the striking mechanism by the crossbar (26). Keep the safety on.



FILLING THE GUN WITH CO:

Before each filling of the gun with gas cock the striking mechanism and make sure
the gun is not under pressure.

Using the 12g CO2 cartridge (fig.1)

Unscrew the piercer (81) from the container (14) in the pistol grip with the safety on,
put the cartridge wit 12 CO2 (type Crosman or similar with 0.d. 19x83mm) in the
container with its head out from the grip. Screw on the piercer. After piercing — it
proves by increasing of the opposition, screw the piercer furthermore about %2 turn.
Use the standard accessory key (87).

Using the filling valve (fig.2)

On the gun without pressure replace the piercer in the grip by the filling valve (202),
you have to screw it on till the stop. Take off the cap from the filling valve thread.
Cock the striking mechanism and put the safety on (34). Place the pistol on a soft rest
with the sights down (grip up) and keep the gun in this position during the filling
process. Screw the CO2 pressure cartridge (150g CO2) till the stop on the filling
valve thread.

In unchanged position put the safety off and shoot 4 shots without pellets. Put the
safety on and let the pistol rest for 1 minute. Unscrew the pressure cartridge and
put on the cap. Turn the pistol to normal position for shooting.

TECHNICAL SPECIFICATIONS

When the feeder (37) with the magazine (1) or without the magazine is not moved till its stop on the left side
(e.g. not all 5 shots are fired), push lever (A) upwards in the dart direction. While the lever is pushed the
feeder (37) with magazine (1) can be moved till its stop on the left side (see dart direction). After depressing
the feeder (see the next section) the magazine (1) can be moved out of the pistol or inserted back.

202

Caliber 4.5mm/ 477"

Length 355mm/14.0”

Height 160 mm/ 6.3”

Width 49.5mm/1.9”

Weight ~1050g/~2.2 Ibs

Barrel length 210 mm/ 8.3” (230 mm, 254 mm / 9”, 10” optional) (w/o compensator)

Sight radius 325 mm /12.8” (with 210 mm / 8.3” barrel)

Sights front: interchangeable, 3.5 -5 mm
rear: micrometer adjustable in height and lateral directions. Adjustable
blade 2.8 — 3.8 mm

Trigger adjustable trigger stop, weight, length and tilt

Trigger weight adjustable

Grips anatomical right or left walnut grips with adjustable tilt 110° — 125°

Additional weight* displaceable 90 g / 0.2 Ibs, 75 mm / 2.95” travel

Cartridge capacity 5 pellets (or 1 pellet according to ISSF regulations)

Energy source

Velocity

Accuracy c-t-c (10 m)

Shot energy
Number of shots

5-shot rapid fire time

CO:; filling from external pressure source with charging adaptor* (or
included 150g refillable pressure gas cylinder) or standard 12g CO,

cartridges

~135 ms™ / ~443 fps
<2.00 mm/< 0.079"
456 J

> 60 from 12g cartridge
> 100 from internal pressure tank

<3s

* other sizes / weight may be ordered

Standard accessories

O O O O

A rigid profiled carry case for one pistol and accessories

Brass charging adaptor for included 150g pressure gas cylinder
Piercer unit

Set of standard tools

Optional accessories

o

o

Front sight 3.4 mm, 4 mm, 4.5 mm, 5 mm
Complete left grip

11



If the weight is not set to sufficient to your needs, the spring (60) needs to be
replaced for a stronger one. Standart spring (60) will let you set the weight from
about 400 — 800 grams.

F. TRIGGER ADJUSTMENT CHECK
1. Cock the gun

2. Fill the gun with gas according to the manual and fire the gun with empty
cartrige.

Described setting will guartatie safe operation of the gun.

CLEANING OF THE GUN

LOADING THE GUN, SHOOTING (FIG.3,4)

The gun should be cleaned without gas pressure!

For maintaining of the proper function of the self-loading pistol AERON B96 you
have to keep it clean. Do not store the pistol without casing and in dusty or humid
environment. All moving parts can be only very lightly lubricated with gun oil. Do
not lubricate the pistol too much. The oiled parts should be wiped. The remaining
oil film is sufficient. The barrel should be cleaned with cleaning rod with soft
surface with the help of cotton-wool and drop of oil. From time to time lightly
lubricate the container cavity (14) and exposed parts of the piercer (81) and the
filling valve.

10

Move the feeder till the left stop — see remark above.

Depress the protruding end of the feeder (37) in order that the draw bar (38)
snaps under the lower end of the link (41) and when it is depressed take the
magazine (1) out of the gun (fig.4). Load all 5 magazine chambers with pellets and
push them in as so they do not protrude out of the magazine edge.

Pellet orientation: When looking at oval shaped slot in the magazine next to the
chambers — the pellet forefronts are heading away from the shooter.

Insert the magazine into the pistol and push the feeder (37) without force till the
stop. Improperly oriented magazine cannot be inserted into the pistol. When the
pellets are not properly inserted, the magazine rubs and the gun function is not
guaranteed.

The pistol is prepared for shooting after putting the safety off or after putting the
safety on the dry let-off is possible without releasing the propelling gas.

I Before putting the safety off it is always necessary to cock the striking
mechanism, otherwise an unintentional shot could be fired after putting the safety
off |

After the last shot the feeder (37) is in the outward position, the trigger mechanism
cannot be released. At the end of shooting put the safety on and push the feeder
(37) with inserted empty magazine into the gun till stop. If you are not going to
shoot for a longer time, let the gas off the pistol in the following way:

Check if in the magazine (1 or 9) or in the barrel bore is not a pellet or a foreign
object. Insert the magazine into the pistol and push the feeder (37) till the stop.
Put on the safety (34). Pull the trigger. Keep the crossbar and put the safety off.
By forcing the crossbar backward the gas from the container will be released
through the barrel bore.

The barrel muzzle must be pointed to a safe place!
The gas can be released by shooting without pellets as well.

Never try to let the gas off by unscrewing the piercer or filling valve!




ADJUSTMENTS

Grip adjustments

The grip tilt can be adjusted after releasing the screw (7) on the container (14)
with a peg wrench. The screw is on the right side of the pistol. The palm rest is
a\adjustable after releasing screws (67). After adjusting tighten the screws without
excessive force.

Sight adjustments

The front sight (5) can be replaced after unscrewing the screw (6). The windage
adjustment of the rear sight is done knob (77a). Turning it clockwise moves the

rear sight blade to the left. The rear sight elevation adjustment is done by knob

(77b). Turning it clockwise moves the rear sight blade up.

Rear sight notch adjustment (fig.5)
By loosing the rear sight blade screws (74) release both of rear sight blades
(95,96). By turning the stopping spring (80) during simultaneous pressure on both

of rear sight blades in the dart direction adjust the required width of the rear sight
notch. Tighten both rear sight blade screws.

Vertical position of setting bolt’s slots means minimum width of rear sight notch.
Horizontal position means maximum width.

Trigger adjustments

Used tools: screwdriver 3,5 x 0,5 (from accessories )
A. FUNCTION OF INDIVIDUAL SETTING SCREWS:
58a — setting rear trigger stop

58b — setting front trigger stop

59 — setting trigger weight with booster spring (60)

WARNING: all setting screws are equipped with special paste for anti
disengagement. In case of frequent adjustments the screw need to be cemented
again!

B. STARTING POSITIN BEFOR ADJUSTMENT:
1. The pistol has to be without gas pressure!

2. Unscrew the trigger guard by holding the weight (3) and bar (2) and take the
trigger guard off.

3. Relese the setting screws (59,58,58b) so that the trigger has large latency.
Don’t unscrew the setting screw completely.

4. Cock the gun and put the safety on.

NOTE: putting the safety on is necessary so that the hammer does not move into
its dead posiition whole setting the trigger.

The safety must be on while the whole setting process described in
paragraphs C,D,E,

C.SETTING THE REAR TRIGGER STOP
Screw the screw (58) so that trigger aftertravell is minimal ( about 0,5mm )

D.SETTING THE FRONT TRIGGER STOP
1. Cock the gun

2. Screw in the screw (58b) to set the first trigger travell length to your needs.
The first trigger travell length can be set to a minimum of about 0,5 mm so
that the trigger lever (52) still safely clicks under the reduction tooth (62)

E. SETTING THE TRIGGER WEIGHT

1. Cock the gun

2. Screw in the screw (59). Set the trigger weight according to ISSF regulations
WARNING:

When setting the trigger weight keep checking if the hammer still can be released
by pushing the trigger. If you screw in the screw (59) too much the trigger will not
be able to move any more!



